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23.11.2015
S-1)	A noktası A (8, -5, 4) ve B noktası  B (-2, 3, 2) olarak verilmektedir.  
a) A ile B noktası arasındaki uzaklık nedir.
b) A dan B ye yönelen birim vektörü bulun
c) Orijinden AB noktasının ortasına yönelen birim vektörü bulun
d) AB çizgisinin z=3 düzlemini kestiği noktanın koordinatını bulun
S-2)	Boşlukta,    değerindeki 4 yüklü parçacık z=0 düzleminde kenar uzunluğu 8 cm olan karenin köşelerine yerleştirilmiştir. Aynı yükteki 5. yük ise bu 4 yüke 8’er cm uzak kalacak şekilde eşit uzaklığa yerleştirilmiştir. Köşelerdeki 4 yükün 5.yüke uyguladığı toplam kuvveti bulun.  
S-3	Bir dikdörtgen prizma  şeklindeki hacimsel bölgede:
 olarak verilmektedir. 
	a) Gauss yasasını uygulayarak hacimsel bölgedeki toplam yükü bulunuz. 
	b) Aynı işlemi diverjans  teoremini kullanarak hesaplayın.
S-4)	P(6,-2,-3) noktasında   olarak verilmektedir. 4-C değerindeki bir yükü 
	 yönünde 1mm hareket ettirmek için yapılan iş nedir.
S-5)	 olan dielektrik bir ortamda,   olarak verilmektedir. Buna göre  değerlerini bulun 
	
 
(küre)

Süre 90 Dakika 	            								Başarılar,   Doç. Dr. Mahit GÜNEŞ



ELEKTRİK-ELEKTRONİK MÜHENDİSLİĞİ ELEKTROMANYETİK ALAN TEKDERS SORULARI
23.11.2015
S-1)	A noktası A (8, -5, 4) ve B noktası  B (-2, 3, 2) olarak verilmektedir.  
a) A ile B noktası arasındaki uzaklık nedir.
b) A dan B ye yönelen birim vektörü bulun
c) Orijinden AB noktasının ortasına yönelen birim vektörü bulun
d) AB çizgisinin z=3 düzlemini kestiği noktanın koordinatını bulun
[bookmark: _GoBack]S-2)	Boşlukta,    değerindeki 4 yüklü parçacık z=0 düzleminde kenar uzunluğu 8 cm olan karenin köşelerine yerleştirilmiştir. Aynı yükteki 5. yük ise bu 4 yüke 8’er cm uzak kalacak şekilde eşit uzaklığa yerleştirilmiştir. Köşelerdeki 4 yükün 5.yüke uyguladığı toplam kuvveti bulun.  
S-3	Bir dikdörtgen prizma  şeklindeki hacimsel bölgede:
 olarak verilmektedir. 
	a) Gauss yasasını uygulayarak hacimsel bölgedeki toplam yükü bulunuz. 
	b) Aynı işlemi diverjans  teoremini kullanarak hesaplayın.
S-4)	P(6,-2,-3) noktasında   olarak verilmektedir. 4-C değerindeki bir yükü 
	 yönünde 1mm hareket ettirmek için yapılan iş nedir.
S-5)	 olan dielektrik bir ortamda,   olarak verilmektedir. Buna göre  değerlerini bulun 
	
 
(küre)

Süre 90 Dakika 	            								Başarılar,   Doç. Dr. Mahit GÜNEŞ



CEVAP ANAHTARI
c-1
[image: ]
C-2
[image: ]
C-3
[image: ]


[image: ]
C-4
[image: ]
C-5
[image: ]

image3.png
File_Edit View Window Help B

Do |ABFR®ESE

R4 Tools  Fill &Sign = Comment

CHAPTER 2

2.1. Four 10nC positive charges are located in the z = 0 plane at the corners of a square 8cm on a side.
A fifth 10nC positive charge is located at a point 8cm distant from the other charges. Calculate the
‘magnitude of the total force on this fifth charge for € = €p:

Arrange the charges in the xy plane at locations (4.4), (4.-4), (-4.4), and (-4,-4). Then the fifth charge
will be on the z axis at location z = 4+/2, which puts it at 8cm distance from the other four. By
symmetry, the force on the fifth charge will be z-directed, and will be four times the z component of
force produced by each of the four other charges.

4 4% 4 (107%)2

= A" tned = 5 X @85 x 100087

40x107*N

. A charge Q1 = 0.1 uC is located at the origin, while Q5 = 0.2 uC is at A(0.8, —0.6, 0). Find the
locus of points in the z = 0 plane at which the x component of the force on a third positive charge is
zero.

To solve this problem, the z coordinate of the third charge is immaterial, so we can place it in the
xy plane at coordinates (x, y, 0). We take its magnitude to be Q3. The vector directed from the first
charge to the third is Ry3 = xa, + yay; the vector directed from the second charge to the third is
Ry3 = (x — 0.8)a, + (y + 0.6)a,. The force on the third charge is now
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ion. Evaluating the surface integral first, we note that D is parallel to the surfaces
and z= 3, 50 D+dS = 0 there. For the remaining four surfaces we have
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and the check is accomplished. Remembering Gauss’s law, we see that we have also
determined that a total charge of 12 lies within this parallelepiped.

D3.9. Given the field D = 6psinkga, + 1.5pcos +¢ a, C/m?, evaluate both sides of the
divergence theorem for the region bounded by p=2,¢ =0, =,z =0, and z= 5

Ans. 225,225
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4.2. LetE = 400a, — 300ay + 500a; in the neighborhood of point P(6, 2, —3). Find the incremental work
done in moving a 4-C charge a distance of 1 mm in the direction specified by:
a) a, +a, +a:: We write

@cta+

dW = —qE - dL = —4(400a, — 300a, + 500a.) - ) (1073

(400 — 300 + 500) = —1.397

b) —2a, + 3a, — a:: The computation is similar to that of part a, but we change the direction:

—2a. +3a, —

W = —qE - dL = ~4(400a, — 3008, + 500a;) - 22 T3 72 (153
Vix

Gx 1071)( 800 — 900 — 500) = 2351

Jia -

43. I E = 1202, V/m, find the incremental amount of work done in moving a 50 um charge a distance
of 2 mm from:

a) P(1,2,3) toward Q(2, 1,4): The vector along this direction will be ¢ — P = (1, —1, 1) from
whichapg = [a, — ay +a.]/v/3. We now write

(ax —

dW = —gE-dL = —(50 x 10~%) [uoa,,-
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Xe = € — 1 =1.56, as found in part a.

©) If there are 4 x 10'® molecules per cubic meter in the dielectric, find p(p): Use

_ 2 % 107%/p)
N ax1ov

107
2010~ . com

5.30. Given the potential field V = 200 — 50x +20y V in a dielectric material for which eg = 2.1, find:
a) E=—VV = 50a; — 20ay V/m.

b) D = ¢E = (2.1)(8.85 x 1012)(50a, — 20a,)

930a, — 372a, pC/m’.
©) P=eoE(eg — 1) = (8.85 x 10712)(50a, — 20a,)(1.1) = 487a, — 195a, pC/m>.
d) pp=V-D=0
e p=-V-P=0
D pr=V-eE=0
5.31. The surface x = O separates two perfect dielectrics. For x > 0, let eg = egy = 3, while egy =

where x < 0. IfE; = 80a, — 60ay — 30a; V/m, find:
a) Eyy: This will be E; - a, = 80V/m.

b) Er;. This consists of components of E; ot normal to the surface, or E; = —60a, — 30a; V/m.

©) Er1=/(60)% + (30)2 = 67.1 V/m.

d) E1=/(80)* + (60) + (30) = 104.4 V/m.

€) The angle 6; between E1 and a normal to the surface: Use

Ei-a _ 80
cosfy = ‘E:’ =1mg = =200
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1.4. given points A(8, —5,4) and B(—2, 3, 2), find:
a) the distance from A to B.

[B— Al =1(-10,8, —2)| = 12.96

b) a unit vector directed from A towards B. This is found through

aan = (=0.77,0.62, —0.15)

T B-Al
¢) aunit vector directed from the origin to the midpoint of the line AB.

(A+B)/2  (3,-1,3)
=———— = —— - =(0.69, —0.23, 0.69

M larBa T g | G000

d) the coordinates of the point on the line connecting A to B at which the line intersects the plane z = 3.

Note that the midpoint, (3, —1, 3), as determined from part ¢ happens to have z coordinate of 3. This
is the point we are looking for.

1.5. A vector field is specified as G = 24xya, + 12(x> + 2)a, + 18z%a.. Given two points, P(1,2, —1) and





